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Z SO, NOx Cco HCL | OPAC | MASS | SO, NOXx CcoO HCL | OPAC | MASS
B
ppm ppm ppm ppm % Nm3/hr | ppm ppm ppm ppm % Nm3/hr
00:00 1HE (e 0 (R =& =& 3.01 61.19 6.38 13.01 1.10 | 79722.96
01:00 (e (e (3 (e B3 B2 1.96 60.72 9.25 11.60 1.11 | 78971.56
02:00 128 e 128 =g (=3 =g 331 56.91 8.61 13.15 1.11 | 81605.23
03:00 (B3 1= (B3 (e (B 1= hE 3.29 52.86 10.28 13.17 1.11 | 82965.57
04:00 (=31 e 128 =g (30 =g 3.20 62.97 9.62 12.38 1.11 | 78888.73
05:00 (B3 (2 (B3 (e (B =0 3.34 54.56 9.53 12.52 1.11 | 79519.86
06:00 (=31 e 128 =g (30 =g 2.36 54.14 13.22 13.25 1.11 | 80520.28
07:00 (B3 1= (B3 (e (B =0 2.89 57.62 5.08 13.90 1.10 | 79471.98
08:00 128 e 128 =g (=3 =g 4.00 62.15 7.24 14.09 1.07 | 81592.19
09:00 (B3 (2 (B3 (e (B 1= hE 4.49 54.16 8.59 12.60 1.08 | 83123.50
10:00 fhE (2 1hE (e 1=IE 1=IE fERY R Ry fEERY 1.07 IRy
11:00 (B3 (2 (B3 (e (B =0 3.24 55.33 2.98 12.57 1.07 | 80521.24
12:00 (=31 e 128 =g (30 =g 3.49 61.96 2.64 12.85 1.08 | 79571.41
13:00 (G (=2 (G (e (G =0 3.25 60.60 4.17 12.99 1.08 | 80944.90
14:00 1208 e 128 =g (=3 =g 3.43 61.42 7.76 10.94 1.08 | 82033.33
15:00 (G 1= (G (e (G2 =0 3.76 59.70 6.08 13.27 1.07 | 80889.13
16:00 1208 e 128 =g (=3 =g 3.03 52.05 10.47 11.01 1.07 | 78806.14
17:00 (G 1= (G (2 (G G 3.29 54.91 4.85 11.87 1.07 | 78423.93
18:00 1208 =& 128 =g (=3 =g 2.50 56.06 5.14 12.36 1.09 | 80601.65
19:00 (G 1= (G (e (G =0 2.68 57.02 9.12 10.69 1.09 | 79116.63
20:00 1208 e 128 =g (=3 =g 3.35 57.45 8.60 12.87 1.07 | 79884.21
21:00 (G 1= (G (e G2 o 6.81 51.08 8.02 12.49 1.07 | 77399.79
22:00 1208 e 128 =g (=3 =g 5.59 53.00 10.64 13.01 1.07 | 78490.15
23:00 (G (=2 (G (2 (G o 5.34 56.26 10.17 12.74 1.07 | 77779.02




